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Q. No: 1
. s s VY8nb+2n*+5
(a) Find the limit of the scquence /nz FPNE] ’

[ee] .
2+sinn .
converges or diverges.

(b) Determine whether the series: E nalz
n=1 .
onvergence of the power series

(¢) Find the interval of convergence and the radius of ¢
(-1)"(3x+5)"

En=2 *
nlnn " .
(d) Find the first four non-zero terms of a Taylor series for the function f(x) = cosxatx =
/3.
Q. No: 2

/2 fn cosxd dy

(a) Evaluate the integral f 2y «x

(b) Use polar coordinates to evaluate the integral ff a/ — xh = yz d A, where R is the
2 = 9 and outside the circle x? + y* =

y the paraboloid z = 9 —x% — y and

plane region that lies inside the circle x? +y
(¢) Find the volume and centroid of the region bonded b

the xy -plane.
(d) Evaluate the integral by changing it to spherical coordinates :

Vi—xZ pfJ1-x2-y?
f L i=m f S22 2?2 dzdydx.

Q.No:3
(a) Show that ICF . d# is independent of path by finding a potential function f for

F = —2y3sinxi + (6y? cosx + 5)].
(b) Use Green’s theorem to evaluate §,
(c)If F = 4xT — 4y] + z% k, § is the surface of the region bounded by the cylinder x2+y?=

and t,hf planes z = 0 and z = 3, find ﬂS F. ﬁ dS by using divergence theorem.
(d)IfF=zT+xJ+ykisaforce field and S is the hemisphere z = ,/az —x2—y?% use

Stokes’ theorem to evaluate ffs curlﬁ ; ﬁ dS

xydx + (y + x) dy, where C is the circle x2+y?=1



